(0 @) (rad)

SICEWATL

107

1072

o p/p.)

[any
<
i

Ratio
=

i

acoogoall
s
-+
41

1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

5 f 5 5
s i : :
o 107 T R AAALRRTILLEEEEEEEE SRRRELLLEEE
] F 4] :
I 1t :
1072 B I IR P
107 :
210 4: : : :
I T 4+++‘|‘+¥H
0.9F--------- ------------ 3 RRRRRREEEREELLEEEE
] .2 3 0‘8:1 ; :2 3
1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpoT (PCA t%obeamliné[f)
—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default
—— DQMstep3_SoftQCD_defaultNEWT3
£
e
o>
=2
o

-+
}:




	Contents
	Page 1


